V. 1.000 // 08.2023

‘». & dlphacoou

~N

Download Center

Alphacool Core Push Mounting 50mm M3/M4/UNC 6-32 Set
4X

Alphacool article number: 15726

The Core Push Mounting Kit offers an easy and secure way to mount

0000994 ®

Quick Info

the Alphacool Distro Plate to a radiator or in a PC case. The metal pins

are screwed to the Distro Plate and the matching sockets are attached * Simple and quick mounting
to the radiator or PC case. The next mounting step is to plug the Distro » Stable and secure
Plate onto the pins without the need for tools. The Alphacool Core  Mounting on radiator or in PC case

Push Mounting System enables a tight and stable fit of the Distro
Plate.

Scope of delivery

1x Core Push Mounting 50mm M3/M4/UNC 6-32 Set 4x 4x nut

4x metal pin 4x M3x6 screw

4x sockets 4x Mbxb screw

4x washer 4x UNC 6-32 x 6 screw

We assume no responsibility for any typing errors. Alphacool International GmbH, Marienberger Strasse 1, 38122 Braunschweig Tel: (+49)0531 288 740 Supportmail: info@alphacool.com



Technical data

Total height 50mm
Diameter metal pins 11Tmm
Weight per metal pin 30g

Color black/silver

Download links

Product pictures | 15726_Alphacool_Core_Push_Mounting_50mm_M3-M4-UNC_6-32_Set_4x_pics.zip

Packaging dimensions per unit

LxWxH 105 x 85 x 15 mm
Weight 120 g

Other data
Certificates CE, FC, RoHS
EAN 4250197157261
Customs code 84733080000

Article text

The Core Push Mounting Kit offers an easy and secure way to mount the Alphacool Distro Plate to a radiator or in a PC case. The metal pins are
screwed to the Distro Plate and the matching sockets are attached to the radiator or PC case. The next mounting step is to plug the Distro Plate onto

the pins without the need for tools. The Alphacool Core Push Mounting System enables a tight and stable fit of the Distro Plate.

Included screws for mounting:
4x M3x6 screw

4x M4x6 screw

4x UNC 6-32 x 6 screw

We assume no responsibility for any typing errors. Alphacool International GmbH, Marienberger Strasse 1, 38122 Braunschweig Tel: (+49)0531 288 740 Supportmail: info@alphacool.com


https://download.alphacool.com/pics/15726_Alphacool_Core_Push_Mounting_50mm_M3-M4-UNC_6-32_Set_4x_pics.zip

Drawing

M4 x Tmm

&/32 x Tmm

M3 Washer
M3 Cap Nut \

M3 x Tmm

0

50,00

We assume no responsibility for any typing errors. Alphacool International GmbH, Marienberger Strasse 1, 38122 Braunschweig Tel: (+49)0531 288 740 Supportmail: info@alphacool.com



